
Entrance Test for B.Ed. Programme 2006

S.w. o,rdoq S fts slgl q$en 2006

Total No. of Questions = 700 Time : 720 Minutes

Sd rr+' 67 i@T = 7oo Frtzl : tzo fq+e
The test booklet consists of two parts A & B, the total number of test items will be 100 of

one mark each.
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*NOTE : Only one subject is to be attempted from Part B. Attempting more than

one subject will render you disqualifred.

*a : $TrrT Er t *{dT qq^ 6 feqq qrtqT t r go t srfu6 fqqq fi} q( snrftl sr*rq
*fril fq,m qrttr r

Read the instructions given on the OMR Response Sheet carefully before you start.

{F qa+ n T{A oMR strt-wi qr f<q rrq frt{ii +i e4q$-s qtr-q I
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE SHEET

GXAMINATION AT.ISWER SHEET)

OMR EK-TIzN q{ Uil{T trG b FT{qI

1. Write your complete Enrolment No. in 9 digits. Also write your correct name, address

with Pin Code in the space provided. Put your signatures on the OMR Response Sheet

with date. Ensure that the Invigilator in your examination hall also puts his

signatures with date on the OMR Response Sheet at the space provided. You should

use HB Pencil.

srrfr {fr 4rqi6r risr (q{t'dt'c qqr) e ei+} t fdFqq I f<} T} rEH fr sirqr sfr
qFT q Fn qts qffd qdr ql fufuq I oMR vtrt-w{ qr ftTfq qtrd 3{q} Ewtilt

*Fqq I q6 S gtrRqd s{ dfdq m e+G qitm +q + t{frqq i onan sf,t-wt q{

i<q TA {qTq qq frfq qFd ERIq{ il Ri t I q!q} HB qfrm qr xfrrr 6.t{r
qrFq r

All information is to be frlled up with HB Pencil The rectangles corresponding to the

digit are to be darkened with an HB pencil.

Xfr Wil HB iifuf, snr rrfr qrfi qTFdq l ilidi + {'rd sTrqiit d ns qRd i A

sRfT q;{{r i I

Do not make any stray remarks on this OMR Response Sheet.

5q oMR strr-Er qr +t{ 3rqttoa ffirqf qr FrqrH rfr wtrEe I

Write correct information in numerical digit in Enrolment No. and Examination Centre

Code columns. The corresponding rectangles should be dark enough and should be

frlled in completely.

qrqisq 1i'5qT 3Tk q0'qrT t-q 4}.s qrA 4ffi t :}idi fr Ffr qfir frEq t *irn edr.|f,

qqtq rE\ A+ qrfdq silr {fi da t "rt gq E}i qrfdq I

5. Each question is followed by four (or less) probable answers, which are numbered 1,

2, 3 and 4. You should select and show only one answer to each question considered

by you as the most appropriate or the correct answer. Select the most appropriate

answer. Then by using HB pencil, blacken the rectangle bearing the correct answer

number against the serial number of the question. If you find that answer to any

question is none of the four alternatives given under the question you should darken

the rectangle '0'.

2.

4.
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7.

rd-+ qvq t eTE qR (qr w1 Svrtra srr t, $ 1, 2, s dqT 4 arn ffie H ri
t r vd-* vw t tdq sTrr+} *qo q* wr qqfud +.{+ f{Rs uc+r qrloq ffi eilq
qqfFffi e;foe qr vfr s+r qmi t r vqtFr* sqgfr sdr gtrq | ilf,rrqrq ns i'lvf,
+ nq)'r ERr rFT * mqi-* + qrqt vfr s+r {wr ErA eilTd s} +rqr +1Fqq r qR
e+rq qrt t f+ ygt + fri Ri qn trsefi t t +$ S vfr vw rfr t d) 3Trr+1
stTzkf ,o' *] 6riTr or+r qrFoq r

If you wish to change your answer, ERASE completely the already darkened rectangle
by using a good quality eraser and then blacken the rectangle bearing your revised
answer number. If incorrect answer is not erased completely, smudges will be left on
the erased rectangle and the question will be read as having two answers and will be
ignored for giving any credit.

qR e+rq *i wt +) cEcqr qt, d) T{A t $ 6rA H e+r+a q} q+ erd {qqn
qrfr w t Tfr dr6 lqer ffqq silr fifrrd str{ {isr qrd oil{d +} *,rer +1Fqq r
qR rca sfl *J tfr me rfr frziqr rrqr d) firari 'rt eTrrd fr gCI fuF{ tt qriii
eil-t qq-{ * q} $dr tq} gq q-t qr{t $ilr fs ffi qrq q6 srd+n frqr sn}rn r

No credit will be given if more than one answer is given for one question. Therefore,
you should select the most appropriate answer.

qR qs rs{ + ffi q* t sTFrs sfl Rqr qr}'n fr *$ sis 'rfr fq} qrifi I sFrFdq
3Trr+1 €-qifEffi sEd strr sT qfi wrn qrRq r

You should not spend too much time on any one question. If you frnd any particular
question difficult, leave it and go to the next. If you have time left after answering all
the questions, you may go back to the unanswered ones.

ffi qd r{r;T qt 3TFrs qqq ifr drr{q r qR e{Tq+} +i frRTg }r{{ sftH d'ffl t,
di sS +-so.r errd vt q6q I ti nrtr 6l strr t+ + qrq qR e{rr} qrq qqq t,
tr e{rq sq wif T{ wqq qr vfiA t fqq-6r 3arq+ sfl( qfr fflr t r

There may be negative marking for wrong answers.

rffid strii + ftT+ EUTre*F ei+q A v*ar t r

8.
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10. only one subject is to be attempted from PART B. Attempting more than one subject

will render you disqualifred.

$TrrTEt ai'q-f, qsfiRqqq-firt rwi 3Tfils fffis.{i q{ 3ilq6} 3lq}rqfrtrd

f,frqr qrflfi |

You will attempt the questions as under :

silq*] $sa firqr{sn od t '

Sl. No. Subject

fi,ci6' frqq

(i) Science
tr-{Tq

(ii) Mathematics
rrfrrrd

(iii) Social Science
qTqrrs r{dTq

(iv) English
3th$

(v) Hindi

ffi

No. of Questions
xri tq1{qr

Q. Nos. 81 to 100

{FT{isr 81t 1oo

Q. Nos. 101 to 120

TFr {qr 101 t 120

Q. Nos. t2]- to 740

srq {icqr 121 t 140

Q, Nos. 141 to 160

Fr{riqr 141i 160

Q. Nos. 161 to 180
q{{ {iqr 161 t 180
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3.

4.

GENERAL INSTRUCTIONS

Hrrnq Fr{qr

No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be
allowed inside the examination hall.
qfrqn sq + ercr +t$ frd qlr, +-qi-e{, gR*, Rir{s-RT, r}a-go qT lefud ie
FnTfq Hri q1 sr{qfr qfr t r

You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions you will be
disqualifred.

qftqr €re qt srr+) +q sTqhi-s silr Fffiqt-s ERr Ri .d ft*ril sT q?H ocqr t r
qR eil'q s{+ r{kit qt wiq- qti di silq-*} srq}q q}fud fsqT snt'n r

Any candidate found copying or receiving or giving assistance in the examination will
be disqualifred.

qfuT q qR +t$ qW rrm q-{t gq qt sdrqdr ti gq qT qrqT o€ ge ql-qr rfitT
dT w 3FiFq Einqd ffiqT qr{Irr I

The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to
you by the Invigilators. After the examination is over, you should hand over the OMR
Response Sheet to the Invigilator before leaving the examination hall. Any candidate
who does not return the OMR Response Sheet will be disqualified and the University
may take further action against him/her.

silTs) r{ffi iln rfrqrT gRsT eilr oun silr-Er rq} qr}i I qfiqTr + qqrw EH
qt qsqTr sqT E\;i t T{a siTr+l oMR sfrr-E{ Frftffi s} Rh t{r qrrdq I q} qfreils
e+ql onnn strt-trT d q-fr ailcT-dr d, B+ qqlq q)fud fsqT qr+'n eh ffi+qrffi
$s+ t{€€ B{r,} ffi qtqr r

All rough work is to be done on the test booklet itself and not on any other paper.
Scrap paper is not permitted. For arriving at answers you may work in the margins,
make some markings or underline in the test booklet itself.

s$ rq +,r4 q{qTr gRffiT qr fr f+-qr qrt{T silr ffi sr=r srltor vt Tfi | o,rrm +
q)$ erq g6$ +i ryfr Tfr t I srfr dq r&t + ffi silr*) qfi'qTr gR-sT fr
qTffiii it q,rq +d, g;o ftflq e'ni qr ssfr uB-d q{i qir ersTrd t r
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6. The University reserves the right to cancel scores of any candidate who impersonates

or uses/adopts other malpractices or uses any unfair means. The examination is

conducted under uniform conditions. The University would also follow a procedure to

verify the validity of scores of all examinees uniformly. If there is substantial

indication that your performance is not genuine, the University may cancel your score.

ffi'qrfiq ffi tt qfrqTrrfi t {rqi--d t{t< +li q1 s1ftr+n {qfr t v} ugs-v

qrq wdT t qT *i ertq g{qri sTtriTdI t qr x+q +-taT t qr 3T1Ff, qnn vfrrr

6{dT t I rftqqT q-6sqn Rfddi + sTfi{ {qrfud +1 qr {fr t r ffi+srf,q Rql

qtenrfffi + xTffi al q-q61 q6qqri'Fq t # q1 fficRr 3lqq+fr r qR q-qtq

S*d t t* eilTfir f{qrfi si-str {fr t, a} ffiqTdq 3ilq* qrqis Fnw ot v*fr
\
€ l

Candidates should bring their hall tickets duly affrxed with their latest photograph to

appear in the test. The photograph should be attested by a Gazetted Offrcer, failing

which you'will not be allowed to take the examination. It should be got signed by the

Invigilator. In the event of your qualifying the Entrance Test, this hall ticket should

be enclosed with your admission form while submitting it to the University for seeking

admission in B.Ed. Programme along with your testimonials and programme fee.

Admission forms received without hall ticket in original will be summarily rejected.

qfrq1T fr H + ffi qfrenrfffi * w+ Tfr{dq qU qF{d eTq-fi Erf, ft-*-c eT-d1
qrffl | qU q] rrqqtrd qftffirii ERr ii-JrqrFrrd'ffiqT Et{r lTfdq rfr fr 31Trs1 qfrqiT

fr ful rfi fflr qrt'n I sffi1 f{fiqffi HnT ERTqrRd 6{qr +{r lTFq r qR e+rq q+{r

qfiqT fr +"q q]ft-d ffi qTt t fr Ei.G. +T4mq fr fi{r tg ffiqueq fr 3{q}
yrttq-El q xt'{'q {ffi ti gq 3ilT+} xarT qTd b qrq {q 6?r ftse 6} {d'{

*r+r qrRq I q) H+a sTd frn {d Erf, f-sz + Hrq ffi qrqi 3t qrqft dr qr

t+rw or f<qt qrtrn t

7.
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sEcrroN r : GENE* 
".ffi:rl*r 

coMpREHENsroN
Directions : Read the following passage carefully and, pick out the best answer out of th.e four

choices giuen in the questions that follow.

Motivations for ruralism in underdeveloped countries are understandably different from
those in developed countries. There, it is a sheer physical necessity for the very act of human
survival' In the Third World countries, which are predominantly rural, the only lever that can lift
human life above its present subhuman level, is rural development. Rural life in such countries
has been stagnating for centuries. Nothihg worthwhile has been done to ameliorate the conditions
of the rural population which is only slightry different from that of their quadruped counterparts.
fgnorance, ill-health and poverty have become s)monyms of rural life in the undeveloped and
underdeveloped countries. But the worst tragedy is that the concerned human populations have
taken this state of affairs for granted, as something unalterable, something for which there is no
remedy' Every ray of hope has gone out of their lives. In such countries, rural d.eveloprnent is the
inevitable condition of any material or non-material .advancement. As such, enlightened sections
of all such countries have been taking an ever growing interest in the question of rural
development.

This was also a part of the legacy of their freedom struggle. In countries like India, it
is well known that attempts at rural development were an inseparable part of the independence
movement. Leaders like Gandhiji realised quite well that Real India lived in her stagnating
villages. Cities, which were mostly the products of Western colonialism, were just arbificial
showpieces. Even then, there were two worlds. The posh areas, where the affluent few, mostly the
products and custodians of imperial interest lived, were little islands engulfed by the vast ocean
of dirt, represented by the vast majority of people.

Cities were by no means unknown to India, In ancient India, they were integral parts,
organically related to the rest of the country and society. Cities in ancient India were the flowers
of the cultural and artistic excellence of the nation, modern cities are just parasites, preying on
and debilitating the country.

Hence, Gandhiji started the 'Go to Village Movement'which alone, according to him,
could bring freedom to India and sustain it. Rural development had the place of pride in his
strategy for the nation's freedom. Thus, it had its origin in the freedom struggle.

B.Ed./2006 ( 8 )



TTTq 3I

Etus r : Trr{r{tr Gd E\eI

fq{$ : ffifsd qffi{ al wrq 0 r.a dEr rs} f-A Rq 4q' t{"i # zr dmfur rd0

C + wfti6 sqzw sil{ m} eit t

ffi.-cr qqii + q)'ii +1 eTqqTr eTffid fuil t e],it qr qlq qrEqdr + sd{Eii +

*-Er+T fr WEq 1.ffi t r qni qO qs *FR fr qFaq + frf{d' rA} u'i ffi*r + ffiq A'qd -ftftrd

3ilwq6dT t r frR-fi srflr t ttt tf, n 5w 6T t qffi"r t, 3-+5r qsTIIr enqn qrfrur

ffiq El t, ffi * *-* trqq A {g+ {dqlq sitrq|{E Kr :t sqr sdfifi qr {{-frdr t I

s q ' k t t { r d f f i t q T f r u r q f f i q d + d E f w r 3 T { t R { - d t t s g q r f i q q q i q r 4 i
RIT€rii dr gqRi t idq 5s qA fsqT qqr S erq qR q{ qrA HRrs.fi +1 gmr fr qTFi

if,T t lqT t r eTffid qf e+t'ffie q*ii i .dflF', '*.*{q de{r rrqd flfiuT fr'qq +

qqh cq .,T+ t I Afuq v+S Wq Rqfr qo t f+ Vq rqn +t qr+q w+tireqr i tST {+{T{

6{ fuq t fr qo gqeil sNfiER'-{H t r rc {m ki frr{fd t ffif ot€ cqr q-fr t r sq*

fifi t enqn dr qtfr fui (r A qm t I gq J|t5R + irir fr, qrfrur tr-6rq' ffi xqrq a1

-+Rffi 31qqr s+T}|ds tr+rq *'fdq qqffi IT-d t r fqFdq fq q'ft t{it t rga e'i fifiuT

wfl-q 4 xtrq qt Fl-f<'{ E-q-9-6i o* e G e I

si-h wirdT ff dr f{ffsd qr z{-6 q-+ if'r fi qr I qr{f, +fr fur i{, {s qrf, q1

q$ qT4A t fd wffi qrQ6{ it qrqluT f{6rs q1 4IRRT qe ef+ww ei'r e{r rfErtfr

*fr tdrs 61 ,rm-*ffd q6 er{qr*t qr f* q<tffi cTFd 3{EtErrR nTii fr tffiq q'tar B I

{rd{ q} qrr.n qFqfi q1 s{q t, t-*o Aerea tntfiq qEq t r aq 'fr q}

rqn e1 gF]qr eri - e-d qEi il-ffi-rr.€-+ t qiq-a qTA q) *61 sF.di + gfqqrqEqf, 5s

Fri-g+ *n- Q*qrfr rdA q r i fr* da-d) tfr zrf +fr q fr{*1 T€-frS 31h ffi t

fu* v5 i tr rcr t 3+{ qsiqs e}'r 3-{ {qril 6T ffit{}m 6Ta t I

qnc qrrtt t ffi ql nte s{qRfud rfi rcr r qr*{ qra it, +n tvr + siqTd

qrrr t ui Ttsv t llq qT\ t{T efu qqq qqrq t qqf"rd t r i *i*Ffr * g{i^ 41 qTfr

deTr {rg qil *oreq+ g-qe-dr + qRqq-s q r erigR-* +'n *qe $t + ftffiR 4{t qd

qrtrffi t qi fuT q1 dqqh qqr rt t I

Efrfdq "fTn-S t 
tfrd m 3t{ +e !-fr' qd qFI qrd€-{ vKtr{ ffi er I 3q+

qe 3rT+f,-{ El q-{d q} Rindr ftr-qT q.hf,r qI s'il{ {qiiildT dr ${frd ts sfldl

* i {fg ft1 gtii-dr t fdq eiqqrfi .Tqi s-{+1 {q{ft fr urqlq fu+Ts 'rd or {qFI {sf,T

qr | {q r*.n qffiq fr-sTq 6r s{H eii*dr {q|q + {e ti qfdFd t I

)
\
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1. People are taking greater interest in rural development because

(1) they have realised the indispensability of it

(2) they have been suffering from severe health problems

(3) nothing worthwhile can be done in the near future

(4) they have now become optimistic about it

2. Which of the following is the 'levef according to the passage ?

(1) Non-material advancement

(2) Stagnation of rural life

(3) Upliftment of the rural masses

(4) Enlightenment of certain sections of the society

3. which of the following is the worst tragedy according to the author ?

(1) The subhuman condition of the people in villages

(2) The pessimism of the rural people about their own condition

(3) Lack of realisation of the importance of rural deveropment

(4) Exploitation of rural people by city dwellers

4. Which of the following statements is not true in the context of the passage ? 
'

(1) Rural folk in the Third World countries feel that their subhuman condition cannot be
changed.

(2) Only rural development can raise the standard of living of the people in Third World
countries.

(3) Most of the rich people living in modern cities are genuinely concerned about rural
development.

(4) Rural development is a prerequisite for anSr other advancement and progress.

5. Rural development was considered as a part of India's freedom movement because

(1) Imperial interest lived only in villages

(2) The country comprised of mainly villages

(3) Gandhiji was against Western colonialism

@) Real India was then under the British rule

B.Ed. /2006 (  10  )



r. dq qrfrur tr6rq fr 3i-sFffi {F t G t *itB
' (1) se {qqi sTqFEddI 6I strq ti V*-t t

(2) a qh srce:q-qnqpii t g.d t
(s) Fffiz s{Fqq fr go ,1 qT{s w{t {EtrtT qA t

(4) ars i w* qq+r fr oTrqn-qr<i d 'rq t

z. qFAE * sqvn Frqfrfud q q ahqr 'q6nr' (sfrils 6't sFI fii qrdrl t z

(1) qq]ftffi ffrrq

e) Trfiq fifi q srEtqa
(s) qlfrur w+ar * w d frr sarqr
(4) vqre * gB urq q'il q1 rqa 6HHI

s. Frqfttud fr t tq6 61 EE t +'re qqmrd gsq qd{r t ?

(1) qnl fr €i,il fti 3ffiqmfrq qt'r

(z) qrfiur R)'il q s +1 Svrr qi sh t FrurflI-+tq
(B) Trqlur fd-rq $ q6 6l sroqrq Eli qi 6,.fi

(4) mr Frqrfuit t snr 4ffii or rilqor

4. {q qRdE + q<.f fr Frqfrtud fr t +t* sq{ vFT rd t i
(1) ffi gffir + M +1 rntur w+ar et q6 +q t m s++t srEqw4rq RIR gtn Tfr

v+.ai t

(z) ffi gFflr + M + fr,il qt fiq{-Ki *-qf, {rfrur frqrq 6RT sdFtT qr vqar t r

(s) qTtrd rrii fr {df qrft 3Tfirsi{r r{r€ ehr q,w{ t qrfruT f6rq t vq*l it
l.llEkT E I

(4) ffi S r*.n q1 erq s*fr sil{ t{drs + fdq qTqlur fusrq sdrEq enqrqs t r

6. Trfrur ffirq d qrco + Hki{ 3il:+€T sl gs :}irr qrsr rFTI elT, *ifF*,

(1) +{f, qrfr fr fr vrfr FFq t{qrq q'tfi fr
(z) tqr gs sq t qTfi t q{r qT

(B) .ftfl-fr qffi eqF{arran + fdta q

(4) sq vlm ErRtrs qrca BFeqr g{Fd t qraea qr

B.Ed. /2006 (  11 )



6.Thestandardof l i v ingof ,humanbb ih i j s in i } i i i dWor ld .count r ies is

(1) improving very rapidly

(2) immune to any improvement

(3) subhuman despite best efforts for improvement

(4) not far better than that of animals

7, Which of the following, best describes the two divergent worlds of modern cities ?

(1) A few rich people and many poor people

(2) Posh area and affluent people

(3) Commercial and industrial exploitation

(4) Patrons of Western products and custodians of imperial interests

t. Which of the following statements is true in the context of the passage ?

(1) Most Third World countries are und.ergoing fast urbanisation.

(2) India's struggle for freedom has been considered as a part of rural development.

(3) Rural folk are very optimistic about improvement in their condition.

(4) In the present context, ignorance, poverty and ill-health are inseparable parts of rural

Iife.

9. Choose the expression which is closest in meaning to 'Predominantly' as used in the
passage.

(1) weakly

(2) undoubtedly

(3) scarcely

(4) in a greatly visible way

f0. Choose the word that is opposite in meaning to 'Ameliorate' as used in the passage.

(1) worsen

(2) lessen

(3) expedite

(4) hasten

B.Ed./2006 ( 1



6. frsfr gf{qT+ tlir fr fr't * re+-veq * wr
(1) ega lfrrar i gw rt t
(2) ffi ql gsrn * tdq f+qrw t
(B) g*TR e'Ii + d' t G sqfq * Er+$ qqqTtfrq d
(4) Vs qr+* 61 Rqfr t ffi qifr srd Tfr t

7. Frefufu'a fr t qt{qT ow wgtr-+ Trti Erdr A ffid gRur or q-{S s+g-m q"iq

o r m t z
(1) go rfr E),T $il{ sTFffi Tfrq d},7
(2) qgF-E*F or frl eft trtreS e)'r
(s) ErfrFq dqT sildFrfr Yilqtr
(4) qFffi sfliit + +{qi-s nqr qnfr €trdi + q}Ts

8. qRAE t v<rt tf pqq66u q t qhqr mqq vrq t i

(1) ffi SFr+r + s{}ffiirT tqii *l RRd rrfr t r.rft-+toT c} ror t r

(z) q1Tf, 6r wi{dT sn+r{ Trqlur fqsg w rffi qqflr qrdr t r

(s) {Ftq ffinT 3{rfr E{TT g*rT{+ + dltt t ugo eT{nqT{ t t

(4) 4dqH vqt fr 3;r{FT, ftdqnT iTPII {-rut-El-{P;T 4q1ur sfi-+q + 3TRqT-q 3itr t t

e. {6 vr< Efo + qRdE t xgm yf< '.{@ sq t' *eT E} r

(1) t'ti
(z) sfttR'tT sq t
(s) ennq sq t
(4) Hs 6s n rcrqi tl qrf,r

10. qnFdq fr xgffi '9ffi + frq' s5q 41 ffi4 vt< gf{q I

(1) snq et+
(z) oq tqr
(3) du Ta q;[a

(4) q-d 6-{{r

B.Ed.i2006 (  1 3  )



SECTION II : LOGICAL & AI{ALffICAL REASONING

Directions (11- 14) : Read the passage to answer the questions that follow. ,

There is a cube with six surfaces painted Red, White, Blue, YeIIow, Black and Green in

such an order that Black is at the top face, Green is bottom and the other four colours are

arranged in the order given in an anticlockwise direction of the surfaces. Now answer the following
questions (11- 14), if Red is towards you.

11. If the cube is rotated horizontally first by 180', then rotated downwardly by 180", then
which colour would be facing downward ?

12, If the cube is rotated clockwise (right to left) horizontally by 180' from initial position and
then rotated upwardly by 90', then which colour of the cube would be facing you ?

(1) White

(3) Yellow

(1) Green

(3) BIue

(1) Red

(3) White

(1) Red

(3) Red and Blue

(2) Blue

(4) Black

(2) Red

(4) Black

(2) Green

(4) Yellow

(2) Blue

(4) Red and Yellow

13. In the above question (12) which colour would !e facing on the left side of you ?

14. Which colour(s) would be bounded by Yellow, Green and White ?

Direetions (15 - 1$ :

In the following diagram, square stands for those who take tea, triangle stands for those
who take coffee, circle stands for those who take cold drinks. Study the diagram carefully to
answer the questions (15 - 18) that follow.
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qts rr : drftFtF uei ffiqunqo futr{
fq{$ u - ut : qTl Rq 'rq wTrw ql qa6{ S-tr} 4/E Fq rq v'flt + rrc d&g t

ffi qq fr s vd fr qrq, q+q, fidf, {qt, qTf,r q d 't{ t gq xq'n iqt

wr t f+ orsr rT sqt rffi-6 rR, 6{r :Fr trA 6i q{6 q{ nqr fo f<q gq mq ii qn i'r

qTqTd R{n fr (q$ + ed ffi frl rt rq t t erq F{q xqii t1- ral * rtn t, qR qK"T

it qrq {'r sntrfr rtq d I

lt. qR w fr] qlfrq ?r{+ t r16fr rao" grrim vr{ eft fu{ fii t sqr +1 iR$ 180'gqlqT
qrq, tr qh t t'r s1 vtrd fii fr atq frfr z

Lz. qR qq dl qnnrs q{n t qRn"n*d (Er( t qrql dfdq dfi* t 180'gq-q1 qrq gil{ fiF{

frA t sr1 fr ett go"gq1qr qrq, fr qq +1 +4 t.t'r fr qild 3ilqt ffi ffi I

(1) q+'E

(3) frf,l

(1) dl€

(B) q+'E

(1) dlc'T

(B) erq qh frqt

(z) fi-f,r
(4) sldT

(D dltT

(4) SIqTI

(D ilT
(4) trf,r

(z) fidr
(4) ero eTtt fidr

(1) E{T

(s) +mr

rB. 
"q-fi 

{FT (12) fr qit4 t {'r m qT sTrq+ qrqi wt* qh frTfi z

14. frft, Et sttr q+-E tii * q*q ah qyt t'T tlqvdi I

f+{w as - rc) :
fri r<q 'rq Fr it qrq q+ qrd d q'i, qTsl fti qtii fr] ftIt, drsT t'q fii

qrdi d Tfr sRI qTfiqprqr t r H* * 3Tqfi t eneTR qr wit (15-1s)* 3-m {fuq t
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15' The persons who take tea and coffee but do not take cold drinks are represented by'whieh
letter ?

(1) a e) b

(3) c (4) d

16' The persons who take tea and cold drinks but do not take coffee are represented by which
letter

(1) a e) b

(3) c (4) d

17' The persons who take tea, coffee and cold drinks are represented by which letter ?

(1)  a

(3) c

r8' The persons who take cold drinks and coffee but do not take tea are represented by which
letter ?

(1) a e) b
(3) c @) d

Directions (19 - 22) : In thb fotlowing questions an incomplete series with one blank rc gruen.
Find out th.e best suited nzissirg number from the giuen alternatiues.

r , 4 , 9 , 1 1 ,  1 5 ,  ?  , 2 2

(1) le

(3) t7

2 0 .  1 , 4 , 9 , 1 6 ,  ?

(1) 23

(3) 25

2 1 .  1 , 7 , 2 6 , 6 3 ,  ?

(1) e6

(3) t25

2 2 .  L , 2 , 6 , 2 4 ,  ?

(1) L20

(3) 30

19.

(2) b

(4) d

(2) 90

(4) r24

(2) r44

(4) 140

(2) 18

(4) 20

(2) 24

(4) 30
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15. a"sr iq q q+ qrd a qfu S q?T aeil qTsl ft t, fuq qqR att rqfrTd fuq trq

t r
(1 )  a

(3) c

16. qTql a fri qre + qfu S qrq der tsusT qq fte t, f+'q edqR aRI rfira f+,q 'rq t Z

(1 )  a

(3) c

r7. grq, sTql derT dugt

(1) a

(3) c

(1) le

(3) r7

2 0 ,  t , 4 , 9 , 1 6 ,  ?

(1) 23

(3) 25

2 1 . 1 , 7 , 2 6 , 6 3 ,  ?

(1) e6

(3) L25

2 2 .  L , 2 , 6 , 2 4 ,  ?

(1) nn

(3) 30

B.Ed./2006

(2) b

(4) d

(2) b

(4) d

(2) b

(4) d

(2) 18

(4) 20

(2) 24

(4) 30

(2) e0

" (4) L24

(D t44

(4) 140

( 1 7  )

Q \ b

(4) d

iq fit qrd qfu, fqs enn artr Ffird f+,e rq t z

18. a"gr tq dqr 6Ts1 fr+ qre qfu \if elq rfr fit t, i+q 3ffir anr rfim fuq 'Tq t z

(1) a

(3) c

frtvr rn-22): ffifud re"i C qa, erF{tr "isdT (fuqC qfr'n?t ellz d) q 4{ d t Pq
4q fudt C ii W (i@r @Efftrt wga) nza +t I

19.  1 ,  4 ,  8 ,  11 ,  15 ,  ?  ,22



23.

Direetions (23 - 26) : In each of the following questions there are fi,ue figures. First is a reference
figure' Among the rest four figures one figure does not belong to a class to which first figure
belongs. Identify this odd figure.

Reference Figure :

(1) (4)

24.

1800 1000 2000 2200

Directions (27 - 30) : In each of the following questions, two statements are followed by two
conclusions. Assuming the first two statements to be true (howeuer absurd, they may be),
decide which of the two follows logically frorn the giuen staternents. Select the most
appropriate alternatiue from the ones giuen.

27. All boys are not students.

Some students are not employed.

Conclusions :

I. Some boys are not employed.

II. Some employed ones are not boys.
(1) Only I follows
(2) Only II follows
(3) Both I and II follow
(4) Neither I nor II follows

25.

28.

(3)(2)

(4)(3)(2)(1)

(4)(3)(2)(1)

(4)(3)(2)(1)

Answer Figures:

MX MX
ru# ru#

A E

E A

A E

A O

A E

O A

O E

A O
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ft{w rzs-26): d? Rq-rq r+*. rF f qfq ful r?q 4q d Ara qddr qtrq iEfrd ful
d r # aT{ ffi f 0 q*' Qier d w} srq alq den go+ fur + /qr d I rs fw fu*
*1 q@r+ ql t

Wrffu: st t fui :

N X MX
+l
t L I - # T IrL

_ l " l

rL24.

25.

(4)(2)(1)

(4)(2)(1)

(4)(3)(1)

27. q.fr qrtrs on € t r
gB 6rd nlo'fr TS oG t r
f f i j

f+tw rzz-80): ffitu ro+ $'nud r)('; uJh d # Br r?d ffi rq d
M Rq rq d I qd ffi 5q /A q-d-A Rq rq qlrl ow (a-a dC sf @ ryii q
d,l rA d, atq*} qd ffiHT t A *U+ M trq rq +erd) 0 dTtr6 Fq * ffi
zrq'd I Rq rq ffi + + vqrTro rqzo fu a7 qw fi 1

r. gB qrf,s il6{i Tfr +G t r
rr. Ss M +.fi qT-A q?Fr rfr t I
(1) tEe r qti t
(z) *qe u vm t
(B) rq rr+ir vm t
(4) rq il+n t t +t$ m q-fr qm e

1800 1000 2000 2200

A E

E A

A E

A O

A E

O A

O E

A O
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28, AII animals are dogs.

All cats are animals.

Conclusions :

I. All cats are dogs.

II. All dogs are cats.

(1) OnIy I follows

(2) Only II follows

(3) Both I and II follow

(4) Neither I nor II follows

29. AII chairs are pens.

All pens are pencils.

Conclusions :

I. Some pencils are chairs.

II. All chairs are pencils.

(1) Only I follows

(2) Only II follows

(3) Both I and II follow

(4) Neither I nor II follows

30" No men are animals.

Some animals are intelligent.

Conclusions :

I. Some men are not intelligent.

II. Some intelligent beings are men.

(1) Only I follows

e) Only II follows

(3) tsoth I  and I I  tbl low

(4) Neither I nor II follows
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v s q C t ,
q',ft fqiffiqf qg t r

M :
r. qS Fqfmaff C i, '
r r .  HSCf rk f i t  r
(1) *.qq r s-fr B
(z) t+e u voi e
(B) rq rt-ir qfr t
(4) rq rr+ii q t +$ ,ft vti Tfr t

qS Sfuf 6.6q t 1
eS sdq tFqe t r

M :

r. Ss qf;w gftef t r
rr. qS SftFf ttuq t I
(1) *-+e r q6i t
e) *-+e n q'Ei t
(s) rq ilqH q-fr t
(4) rE rr+it fr t +t$ S wl =rfr t

Bo.  *$qqr+Eq{+ f r t  r
Ss qU gf{qn t r

M :

r. gE qmq tfqqm € t r
rr. gs gffrqn fiq qr+q t r
(1) t+e r qei t
(2) q-+q u qET i

(s) rE rr<H vfr t
(4) Iq II+it fr t +i S vfr q-fr t
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SECTION III : EDUCATIONAL & GENERAL AWARENESS

Directions : Indicate the correct answen

31. The first woman president of the Indian National Congress was

(1) Sucheta Kriplani

(2) Rajkumari Amrit Kaur

(3) Annie Besant

(4) Sarojini Naidu

32. The earliest inscriptions on stone in India were in which language ?

(1) Prakrit (2) Pali

(3) Sanskrit @) Brahmi

33. Railways were introduced in India when the Governor General of India was

(1) Curzon (2) Dalhousie

(3) Hardinge (4) Ripon

34. What should be given to an athlete for instant energy ?

(1) Carbohydrates (2) Protein

(3) Fat Q) Vitamin

35. The place in India receiving the lowest rainfall is

(1) Leh (2) Jaisalmer

(3) Bikaner (4) Jodhpur

36. Cow's milk is a rich source of

(1) Vitamin A (2) Vitamin B

(3) Vitamin C (4) Vitamin D

97. Earthquake is measured by using

(1) Barometer (2) Laser rays

(3) Seismograph (4) Altimeter

38. Mudaliar Commission (Lg52 - 53) had recommended opening of

(1) Kendriya Vidyalayas

(2) Multipurpose Secondary Schools

(3) Navodaya Vidyalayas

(4) Vocational Institutes

39. Emphasis on Common School System was first laid by

(1) Radhakrishnan Commission (1949)

(2) Mudaliar Commission (1953)

(3) Kothari Commission (1966)

(4) National Policy on Education (1986)
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31.

GfuE rrl : dfdriF Eii srqrcI +fl{r

firfu ' sd Yar gfrn r
qrtfiq rr$q si}s fr xqq qf{dr siqq fr

(1) EqaT Fqf,ffi
(2) trvgffi erTc +h
(B) tfr tfre
(4) vtffi qrrr€^

qrca ii vd$ qT-fa ffis f+q llrqr q t ?32.

33. qrca ii f6q rq-ft wKf, t qre t H tqr qKtrT g€ qi ?

(1) q,dq Q) sft)-fr

(s) Erffirr (4) RT{

s4. qs q,rtrc q) enn qfr + fu wr i" *q t
(1) @c-q Q) qren

(3) 4{lT (Fat) (4) ffiq

(1) qrfd

(s) {iq-f,

sb. qrca fi vq$ q,q qqt qrsr *qH t
(1) Ad
(s) ffir

s6. rtr.T qT R*i r*,q +d i er€ t ?
(1) ff i{A
(B) fuelFrq c

s7. Tsq *,r qrrq Afl t
(1) +tfrer t
(B) fis}qls t

(z) qrd
(4) qrd

(2) ffi
(4) vlug

(D ff i{B
(4) ffi{ D

(z) ast fut t
(4) stdfr.{ t

BB. T{ffiq{ 3Trfr'T Qslz-ssli Fil ffi fr ffi{r ql ?

(1) arlq Fqrmq
e) qg-3eTfrq qrqFrs f{qrcq
(s) T+fl fdqffiq
(4) qeqr|rs {{qrq

se. qdqqq qFlrq t{qrdq {qrfr qq ffi ft fq i

(1) rttrFslq 3il+tr (1e4e)

(2) SqTr{q{ 3{+T (1e53)
(a) dtsTt s{mq (1e66)
(4) tm RIqTr fiFd (1e86)
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40' The first committee which looked into the problem of wastage and stagnation at primarystage was 
s' v' 'v@@6E 'a*u

(1) Hartog Committee e) Sri prakash Committee
(g) Zakir Hussain Committee (4) Ram Murti Committee

4l' "Give me blood and I promise you freedom, was uttered by:-:; (1) Bhagat Singh :(z) Chandrashekhar Azad
(3) Sardar Patel @) Subhash Chandra Bose

42' which of the folowing is not the principle of panchsheel ? . :
(1) Non-alignment
(2) Peaceful co-eristence : l
(B) Non interference in each others'international affairs
(4) Mutual respect for each others territory and sovereignty

48, In India, diamonds are found at
(1) Panna (Madhya pradesh) .,
(2) Golkunda (Andhra pradesh) :
(g) Khetri (Rajasthan)

. i

(4) Gulbarga (IGrnataka) ,, .,

44' The first free and private university in India, completely independent of Government andreceiving no grant from it, was
(1) Benaras Hlindu University
(2) Aligarh Muslim University
(B) Women,s University, pune
(4) Vishwa Bharati, Shantiniketan

46. 'Pahistan papers'has been authored by
(1) Brig. H.S. Sodhi e) K.K. Bhargava
(3) Dr. Sadiq Hussain . U) Mani Shankar Aryar

46. Which city will host 2010 Commonwealth Games ?' (1) London ' 
e) New Delhi

(3) Paris 
G) Melbourne

47' Ms. Harita Kaur has the distinction of being first Indian woman
(1) Doctor to create a test tube baby
(2) pilot to fly an aircraft solo
(3) Inducted in Indian Navy
(4) Employed in a petrol pump

B.Ed./2006 
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ao' msFr* wr qt sTtFFr qi gffinrr fr wrsr q{ rilr q,G qd sq$ Td +}"gi 6

I

(1) eef'r *,U
(3) qTB-{ gilq s,M

e) afr Y*rvr q,tf
(4) {rq {ffi 6,ia

"gq gS q{ A, S ge sTrq{ tfl" - q€ ffi'+ar ?

rtl ,r're ffie Q) T
rst qKR q)€ G) guw +< eRt

FTqfrkd q g HFT qr rq{ne 6r Rrmrfr re? e 7

(1) UeFfi+qT
(z) {Trfqoi q5qffie
(s) erddsq q-{sn qlftit it qqd q t{r
(4) qs (qt fr rrq frqpii nm {rgat ff g{rfl s'{qr

r+rw it €R qr-a qfi qi tem t
(1) v*r (qF4 qt$)
(2) 'id$ugT lerw xtvt)
(B) ffi ({rq{qn)
(4) Uit*'t f*'atr*l

vrs'n + F+irq t Wtmt etir aqr qw'fr gi-{qrq i'Ai qfl sil{d it qerq, 5 Frfr

ffi+smq qr
(1) sms trqffiffieq
(z) srfiq-G gkq ffi+qrffi
(s) qtrdr fsqtreneq, 5d
(4) tffq qrd, vnFaF*tR
'q7ffi74 H'* tqs t
ru fiiBfi w.w. qlGl Q) *.+. ttrtq

(3) - 
ffi get @) qFr qifi 3[qt

F{ 2010 * Eirt}q &it +,r }qqr+ dq vr qrfl q+rn I

(1) EiE+ Q) C r(d
(s) tRq (4) ffi-{

47. gfi ERilr s\ d qqq eTKfrq qr6dr dt q'r 'il{d r6q sq it qrq t

(1) te qq afr +<r q'G ffi Ef€t
(z) ls'o E|qri wre s] s.srf qrfr qr{ffi

(B) qrftq ftqT fi *rnqn* di qm

(4) tfm vw dr tqT fi fdgs
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48. Silver is most abundantly found in the state of
(1) Bihar e) Tamil Nadu
(3) Rajasthan G) Karnataka

49, Which of the following is wronggt matched ?
(1) Television Baird
(Z) TYansistor Shockley
(3) Typewriter Sholes
(4) Thermometer Celsius

50. The Chief Election Commissioner of India is
(1) elected by the parliament

(2) nominated by the prime Minister
(3) appointed by the president of India
(4) appointed by the Ministry of parliamentary Affairs

51. Agha Khan Palace, where Kasturba Gandhi died while under detention along withMahatma Gandhi is at
(1) Bombay e) pune
(3) Ahmedabad e) Bangalore

52, Wular Lake is in the state of
(1) Orissa (D Gujarat
(3) Jammu & Kashmir (4) Madhya pradesh

53. Mandal Panchayats were recommended by
(1) Ashok Mehta Committee

Q) Balwant Rai Mehta Committee
(3) NarsimhanCommittee

(4) SarkariaCommission

64' Which one of the following states has not yet identified tribal communitv ?
(1) Chhattisgarh e) Haryana
(3) Maharashtra e) Karnataka

55' According to U.N. Convention on the 'Rights of the Child' which of the following is notcorrect ?

(1) Safe drinking water

(2) Adequate standard of living

(3) Employment

(4) Protection from exploitation
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48; qgflTd t fifr t+'q {rq fr qm qrdi t ?
. (1) ffdR Q) dFffi re

(4) ffireF(3) {srcqFT

4e. FTqfdfuf, fr t q** q\gr 'rtrd fir t ?
(1) ({E{h i{d
(2) giHs{ {il+-d
(B) er-{q{rgt {i-tr
@) qqtqt-c{ nfffiq

50. lT|-{f, 6 Wq giIE 3Tr5m Erd t.
(1) {iqq t gi gq
e) qqn {fi gRI qrFrf,
(B) qna * {rFqFd aru fr9ffi
(4) {ffiq qmii + qiTcq nn fum

bt. qdriqufqi + qTeI Ttrrd< 6qtqr "fq1 
q1 uq frv eTFn d {id t g{ fr, q€ 6'dr

r \ ^

€ /

(1) qrE'$ e) 9.
(3) 3fin{triK (4) qq€R

62. {d{ fid fuq {rq t t ?
(1) g_$qr (2) Tqrrd
(3) qq qd +Tfir (4) qea qtYr

bs. qr*r ffi 61 ffi{r qi Ti
(1) or{il6 trn otzi mr
e) 4tr{< {H tildr 6la ERT
(B) Tdq-il{ q,tE att
(4) €r*rRqr sTrqt'r il{r

54. FTqfmfu( ii t f6q {rq t srrfr a+ sTrffi q5-qrq q1 t{-{qr{.Td qi e ?

(1) gfrqq.e Q) oRqtqT
(s) q-d{p (4) q.if-s

b5. ,ffi snFffiRi' $ sq*1 q {iTs ng-{v + HCqr t wgvn FTqrdfu( fr t 4h qr sfr

r d i ?
(1) g{frfr t{sf,
(2) sqgm sfl-+q wt
(s) td'Tft
(4) {tqrT t gwt
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sEcrroN rv : TEACHTNG-LEARI{rNG AIYD THE scHool,
Direetions : Indicate the correct answen

56. The concept of Basic Education was given by

(1) Dr. Zakir Hussain

(2) Dr. Rajendra Prasad

(3) Mahatma Gandhi

(4) RabindranathTagore

57. The most important indicator of the quality of school education is

(1) infrastructure facilities in schools

(2) textbooks and teaching-learning material

(3) classroomprocesses

(4) attainment level of children

58. Student's learning difficulties can be best addressed by

(1) advising them to work hard

(2) suggesting private tuitions

(3) supervised study in the library

(4) remedial teaching

59. Inservice teachers'training can be made effective by

(1) using training package developed in advance

(2) making it residential "':

(3) using participatory approach

(4) putting follow'up mechanism in practice

60. Anti-child labour law (1986)

(1) prohibits all forms of child labour until the age of 14 years

(2) prohibits child labour in hazardous occupations onry

(3) prohibits child labour during schgol hggrs

(4) prohibits child labour by putting rgqpgnsibility on the employers about their education
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EIos rv : Rtailq"3lftFfs sei frqffiq
fidk r s-d rar w qrr +?8e I

86. gtrqrm RrqTr sT trq'R ti qrd t
(1) si. qrBr dr
(2) g. {+d nqrq
(B) qEr€r rfell

(4) TfiEiTq +rh

57. f€ffiq q RTqTI +,r guTT{T qr vqirq+ qndttT qpqgs E
(1) f{qrddi t sTrgTrks-{rq{r gfuil(
(z) qqq-gw+ dqr fuenur+TfiFrq qrqfi

(B) sqFnq {tTrfwf
(4) srit q1 sqdtrI sT Rr

58. 6l'{T 4T g{ItFIrT gq*TI s,fd;T|{qT ST SRr 3t6T FfEf{ E

(1) st qfen qRsq q-G m vere { snq
(z) s-e qr$-c EWf{ q-tl or gwn R+ we
(B) gmsrfiq fr qfiRi-d 3Te4fi

(4) sFmreFF sTqtq{

Ee. +qrw srqTqqif + qRnnur d xqr{ sTrzfi qr qq"n t
(1) qrq t TdA A AqR t+.q .Tq {RRTq ttq sr s'qhr 6{t t

(z) {S silqft q+r ti t
(B) Fil{rFmr sq-rFl q,t sqqhr fi+ t
(4) qfuqfi sr{q-tr ffiF +} emrq fr dr} t

60. qe-{q f{itft q,rfl (1e86)

(1) r+ q{ n-+ qi sng * qrcqif + q'rft xqn * ar'I qt t.* e'nm t

e) q* A6qq\ 6rd fr qlcT-,Tq q.ri qi t{dr t
(B) FsTdq $ qqq ii qrd-{q qt ts e'ncr t
(4) ffiqii qi RntT q,r <tfT€ * Fqtureit q{ Hh qr qrfr-rrq qr ts eqrer t
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61. For being successful in life, students should be encouraged to

(1) selective study

(2) casual study

(3) intensive study

(4) learning by rote memorisation

82. Students'absenteeism should

(1) be the concern of headmaster and parents

(2) be dealt with by school authorities as per the rules

(3) be taken up seriously by the teachers

(4) be accorded less priority as against those present in the class

63. Organisation of co-curricular activities should be the responsibility of

(1) the headmaster

(2) the teacher appointed for this purpose

(3) teachers interested in it

(4) all the teachers

64. Students who bring out alternative solutions and cite the books not prescribed by the
teacher should be

(1) discouraged

(2) encouraged

(3) advised to talk to the teacher outside the class

(4) advised to follow the class notes to score better in the examinations

65. Experienced teachers don't require detailed planning for a lesson because

(1) they can teach better without it

(2) inquisitive students are only few

(3) they don't face any challenge even if some mistakes are committed

(4) they can manage with brief outline using their expertise gained so far
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. '6r. dr+q t qqffi Ai + fiTq o,rii 6) RT *.ri +) ffird wcn qrFq ?
(r1 ++trfl 3IE4+{

Q) 3ilq,fu-S 3{r4qq

(3) rrfrT sTrzMq

(4) qra{qtfiq q{+ fi€qr

62. 6rif +1 3qqRqfr +1 e{r<f, + ftrq q

(1) r*t* 6q1 q-61-fr6 d foo, ffi qrf5q

(2) f{sTdq + 3tftffirRdf srur f{qqr{qR s{ rfr +,rffi *lfr Erfdq
(s) 3Tqrqqit dr{r {S .r*nrnr t An lTfdq

(4) q) sqqT tf 'sqf$rd {64 t s{ Erif fri srtenr sQ qq qfrTdr 16 vrfou

68. qq-q-vd,Trfr tfi+reii or eTfqtq{ +tn f+s+r Erfrd Et+r qTFq ?

(1) XqHItrITqIF 6I

(z) qq q.14 + fdq frgm errarr* *r
(s) 3q srtarrqit ql fr w-q Ffu {se t
(4) sql sTqqqit s.r

64. fr en erq tsl 5ta+1 q,r vqqq tfi si-q :rqn t TFT 6f, q-G t gq 3Tq-ffi t
tutRd q-fr f*.qr t fr r€
(1) Fd}NIrdd o{n qrFdq

(z) ffiild wr+ qrFq

(B) sffi + qr-fl sTc4rqs t erd +Ti 41 ven tfi lTFq
(4) qiqTpii fr srd eis qrw wi t leq sqT + +e.q qi Bqqil+ q1 verc q6 wfo<

68. su'rfr sTqrqdi +1 ffi qra +1 r++Ed qra-+q{r 4t qftiT -6 urFq qdffu

(1) gq+ f*+ fr a 3i-qn wT FfiA t
(z) rqiTg 6f{ sgd a +,q Erd ii
(3) qR *i rFilfr qi t) qrq d) 5Q ffi gtfr 6T qlq-n'4fr qqa qs6

(4) 3n ilq' s€ff dl ffi{dr xrc q1 t sst a TiR{q 6fuT 6RT 6rrT qer v+t t
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66. Education should aim at

(1) developing vocational skills among students

(2) developing social awareness among students

(3) preparing students for examinations

(4) preparing students for life

67. Best way of homework checking is

(1) getting it done through bright students

(2) getting the answers checked collectively in the class

(3) getting it checked on sample basis

(4) getting it checked by teacher herlhimself regularly
I

68. Periodic tests be given to students to

(1) inform students progress to their guardians

(2) undertake the exercise as required under rules

(3) train students for final examinations

(4) take corrective measures on the basis of feedback from the rezults

69. Studenf,s failure should be considered as

(1) failure of the system

(2) failure of the teacher

(3) failure of textbooks

(4) failure of individual student

70. Training needs of teachers can be identffied realistically by

(1) asking teachers about it

(2) asking the supervisors of teachers

(3) analjising teacher profiles

(4) analysing pupil achievement data
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66. fuir qr si{q aqr qrF6q

(1) 6rit fr qqqrfs ffidrclii q,t t++rq q-cq[

(z) ut'ii fr qrqrfs q-q-F-tFHI 61 ffirq 6{{r

(B) 6rif d .r{qTpit + ff,q iqn q,r+

(4) drii q) fim + fu fuR ET{r

67. tp +r{ (Homeworkl sffi q,r vqt eran sqrq t

(1) rga erii snr gt qrq{ q,'n tiT

(z) 6q{r it qrtF* sq t sd-if s1 sfrq fir tqT

(B) T[f + sITeIR vt {e dq qc'HT

(4) FrqFrd sq t E"i sTgqTqs/sTtqrtr*r HRr s{+1 sfrq ocqr

6s. or=it or qrqfu-d qfrqm d-{r qrFq drfu

(1) Er=ii fr r'rfd fit qfi+Tr+qii * {fd q1 qr {r+

(2) F{qqrSR FfitRd 3TrrtRT q-{qrqT qr q+

(B) Erii +1 qfuq qftnpit + fdq HRrRN f*qr qr q+

(4) qffit t srq qRqE * qrqp qr gsTnrtrs 3qH eirFilq qr €+

6e. drii + srE-fef eli qr q{s{r qrfdq fr

(1) qureil ql enrwo A 'rfr t
(2) sTszrTqs o1 erqsildl t
(a) wqq-g<qiii or effisildr i
(4) qfurrd on +1 ei-sq.df,r t

70. s{qrqdt + qtrEnq +1 siltlTTrdpif d qr6f{s sq t q{q6r qr vmr t

(1) s{+ qt q ergqr$it t pot

(2) sTeznq-di I q{aqrtii t T$s.q

(s) 3Tqrqdi + Hr4q-flit + igrtd{ qr f+sdqur qli t

(4) Erii + FI"IR xqii qr H.T|qi ffiqq 6{*
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71. Problem of school dropouts can be effectively tackled by

(1) reducing curriculum load

(2) teachers empathy

(3) attractive school environment

(4) providingincentives

72. An ideal teacher is one who

(1) covers the full course

(2) helps students in learning

(3) is a friend, philosopher and guide

(4) likes discipline

73. Public Examination System should continue because

(1) it is good for comparison

(2) it has greater acceptability

(3) it promotes teaching-learning in schools

(4) teachers are not trustworthv

74. A committee to review the National Policy on Education (1986) was headed by

(1) Ramamurti

. (2) P.C. Alexander

(3) Chitra Naik

(4) P.C. Chunder

76. Teachers motivation and commitment can be enhanced bv

(1) offering them high salaries

(2) providing inservice training

(3) allowing them private tuitions

(4) providing them professional support on the basis of monitoring results
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7r. ffq it fr r{qffiq dg-fi{ 3Trzffi rq{d ai al qqsr qT 3{d ma F+ir*ur 6 qffir t

' (1) qTETfiq * qn d qq 4Ti t

(2) sTqrqdi *i qq$fd t

(s) f{qffiq t 3Trstrs wt+rq t

(4) iffiEq FqH qtt t

72. e{K{t 3Tqrrm rd affi t q}

(1) S qeq-"q +l qqrm t

(z) RIii ql 3Tfinq fr wr+or qdqdT t

(B) f,Td, Er{ifr-s dqT qrlH-s d-dr i

(4) 3i-g{nqr reqT qr{dr i

73. Hffi{S qiqTr qqTei Public Examination System) qtr{ ii 16fr qrfdq 4iih

(1) {d gd{r + Ffl 3i-d t
(z) rs-+1 qrqq ffiffd t
(3) Eqt ffir fr RrqTurr{tlrrrq d e-f,f, fil or 3FRR fr-f,-dr i

(4) oTrzrTqs |q{qlq t qn rfr t

74. {rsq REnr ffi (rgso; * Seior qFft +1 eFaqrdT 41 .Tfr 'ft

(1) {Iq$ sRI

e) q..1i. 31ffirgt arn

(3) fqn qr.l-s ERr

(4) fi.fr. g<t an

75. silqrqqii + B-d{.T W s++t qFcrq-ffir ql ffid f*qr qr q6dT t

(1) sA fi +ffiqn is{

(z) ffifr rRRTq t6{

(s) m+c R{T{ *.ti s1 dsfd ts{

(4) 3-{h qfrqTr qRuTfi t qfift.fi t e{TeIR q-r se qreqrH-s wnT TEri'6{+
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76' An essential component in the curriculum for out of school children should be

(1) literacy skills

(2) life skills

(3) numeracy skills

(4) vocational skills

77' Tax payers are contributing towards Elementary Education by payrng

(1) income tax

(2) tuition fees

(3) for private tuitions

(4) education cess

78. Education of girls needs to be given priority because

(1) girls happen to be more intelligent than boys

(2) girls are less in number than boys

(3) girls have been discriminated against boys in the past

(4) girls only can lead social change

79. Success of inclusive education depends on

(1) community support

(2) high quality teachingJearning materials

(3) high quality textbooks

(4) attitudinal change among teachers

80. Quality of school education depends heavily on

(1) Infrastructure facilities

(2) Financial provisions

(3) Internationalsupport

(4) Quality of teacher education
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76. HqTffi * erfl {6 rrq Fit dr qr€qqt + fdq sflz$.ffi qr+ tt+ qrFdq

(1) qTfdfus Ri-drq

(z) frfi 61 g{ffif,r(

(s) €€qkrs Gi-dK

(4) ;qrqeTfs ffidK

77. 6t<ldT nTqFrs frRT + fu e+q{r mqqq er<r or G t

(1) e+rc*r t*r
(2) ruH gw t+t
(B) qfurrd ET{d + fdq erq ts{
(4) frnri sw{ ist

78. qrfu-sTsii m RIqTr q1 qrqFrrdr 14 =nfo< +iifs

(1) vgffi, ii-sdt fi e{qqTr sTFrs ARHR +'fr t
(z) dgf+.uf {{*r ii €-s+1 t oq t
(3) Tdsrf, fr d'-e-si +1 gc+r q rrgmt * qrq qqlflq f*qFrqr t

(4) t{d c.sffi Ei €rqrfs qRsda 6I tqe qrt t qqfi t

7s. {rFqfr-d (Inclusive) frrqTr s1 q$c'ktT t{.tr t

(1) s$qrq * vort qt

(2) Rnrur{TFr'rq qrqffii +i sq+1tr *1 {o5aq1 qq

(B) wqq-g<t$i +1 squat vt

(4) er€zTrwii fr eTFr{flF{s qRrdq q{

Bo. ffi REnr m {ur+f,r 3leftffi FT-ir q.ctr t

(1) sTTcrRW Shqreil .rt

(z) ffiq xr*mif qt

(s) trSq vor\ qt

(4) sTtzttsr RTqTr m IUrfir qt
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PART B
SECTION V : SUBJECT COMPETENCE

(i) SCIENCE

81. which of the following colours has the shortest wavelength ?

(1) Red e) Orange

(3) Yellow (q Violet

82. In a diesel engine, the fuel is ignited by

(1) a spark plug

(2) Iiquid oxygen

(3) the heat generated when air is compressed in the cylinder

(4) vaporization under partial vacuum

E3. How many moons does the pluto have ?

(1) None e) One

(3) Two (q Six

84, The weight of a body on the moon is

(1) 1/5th of its weight on earth

(2) 1/6th of its weight on earth

(3) L/7th of its weight on earth

(4) 1/100th of its weight on earth

85. The scientific study of the action of chemicals upon living beings is called

(1) Pharmacy (Z) pharmacognosy

(3) Pharmacolory @) Biochemistry

t6. In the manufacturing of match stick, which of the following is used ?

(1) Potassium e) Sodium

(3) White phosphorus (4) Red phosphorus
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qFI GT

ElugV,fq9.qrfdSGFki i

(i) frflrq

81. fiTqfufun fr t f*.q fu +r ilt'rdd vEfr oq tt-m t z
(1) eRT Q) q|.tfr

(B) qtdr @) ffi

" 82. qs d-qiT tq{ fr {T{ ffi qfud *m t i

(1) wr$ q'r t
- Q) rce qiq{irq{ q

(s) R-.+* tt aq * <q|q qT} t sffi{ g,qr t
(4) s{iRrs fiqid + sffid gq qet*luT t

88. qA + ffi riqqr dt t z
(1) +$ ifr e) qs
(B) A (4) u

84. iifir qr ffi +q qr qn tl'n

(1) ss qq t Vd qt qR sT 1tb

(2) sq qq s YqI qt qR i6T 1/6

(3) Tq Eq t Vqi qt qR qt r/7

(4) sq qE *, yd qt qR EFl 1/1oo

Bb. {rqrqF{s Fdi d' +*{rR"ii qr fuq + ff{s gTtqfi q} wr qni t z

(1) wt'S leiwuFntur F-{Tq) Q) srffi"fi
(a) qrqt+h$r 1+v-wgur trdri') (4) dqrq|r{

s6. ffi fr ftffil q-{rt fr firqfuba fr t fr-qsT sqqtrr Adr t ?

(1) qPfrrqq Q) AFqq

rgl q+E qffiq (4) 6ffi qffi{q
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87. What did Fleming discover ?

(1) Vitamin A e) Vaccines

(3) Sulphonamides (4) penicillin

88. The substance present inside a fluorescent tube which emits light is

(1) Nitrogen e) Mercury vapo'r

(3) Sodium cyanide @) Air

89. The biological process by which changes occur in genes is known as

(1) Adaptation (D Evolution

(3) Natural selection (4) Mutation

90. Agronomy is the study of

(1) behaviour of agricultural animals

(2) field crop production and soils

(3) names of agricultural plants

(4) all of these

91. Cold-blooded animals are those animals whose

(1) blood is cold

(2) blood is blue, not red

(3) body temperature varies with that of the surroundings

(4) body temperature is always constant

92. What is the technical term for fish farming ?

(1) Aviculture e) Sericulture

(3) Pisciculture (4) Zooculture

93' The vision defect of eyes as a result of which a person is unable to see distant objects
clearly, is called

(1) Hypermetropia (Z) Long sightedness

(3) Astigmatism @) Myopia
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87. dfrrr i f*,q qh +1 Etq fr fr ?
(1) ffi{ q

(B) qdtiqqs

(1) 3i-{{'tr{

(B) qrgftm +++

eo. ql]dtrr ffi aTuFf{ q} oot t z

(1) gn wftfr vgdi * q+tn

e) Sa v,vo sflrfi dqr Tfl
(B) Ffr qq*fi qrdt * =nq

(4) sq{ffi q$

qFirfiFd{frd qfsr + giq{ ft +tqqr qEr{ +-dr t ffi xtFRI T€ffid frar t t

(1) ir{irqr Q) q*fr qrq

(s) q]trqq qrqiT{s (4) qg

Ee. w df++ qFnqr fi FTI qrq t ffi fi it qFsf4 dil t z

(z) ffiq
(4) qfTRm

(z) f+rs
(4) sflFsdq

et. sfs{drqi {r"fi a qr"fr'At t fq+ot

(1) {m 6rgt fr-dr t
(z) {tr dltT q Aq.r ff,r *-dr t
(B) vrft nm sIRTqRT * crq t H'rq qRsffid d qnr t

(4) ql-ff{ ilq qtq qqH rfldr t

sz. FR d'fi + fdq qrfu+rtrfr wE m t I

(1) gfr*-€t

(B) Fr$oqt

eB. eTicii 6r {€ Etr
to qrar t z
(1) aEw+nRqT
(s) qF,ff+q
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e) qimq{

(4) {{,€{

qlq Hr s{f,rer t Rg+ qrqur qfu 6 +1 eqsit q} ss sq t rfr

(z) Ff'r qlqdq

(4) q4frqr
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94. Which of the following diseases is caused b; amoeba ?
(1) Paralysis

(3) Dysentery

(2) Cholera

(4) Typhoid fever

95' The wind blowing from the land towards the sea during the night is known as
(1) Ordinary breeze

(2) Sea breeze

(3) Land breeze

(4) Cold breeze

9q' Dots are placed on dice in such a fashion that the sum of dots on any two opposite sides is
always 

v't ear va'

( 1 )  e  Q ) 7

(3) 6 @) 8

97. If the earth did not spin

(1) we would have no seasons

(2) half of earth would always be in sunlight
(3) there would be no summer in the northern hemisphere
(4) all of the above

98. The most abundant element in the earth,s crust is

e) Silicon
(1) Oxygen

(3) Aluminium @) Iron

99. The term Green Revolution refers to

(1) increase in milk production

(2) increase in vegetable prod.uction

(3) involvement of Dr. Green in agriculture
(4) increase in crop production

100' When a person donates blood, approximately how much of his/trer blood is taken ?
(1) 250 - 300 ml e) 1000 ml

( 3 )  l - 2 l i t r e  ( + ) , 5 0 m t
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s4. slqtqr {iqr FrqFdfud fr t qt{qT ftr afrr t z

(1) qqlqrd Q) tqr

(s) tfd{T (4) uFs'r{s gsn

e6. rn * vr+ 1fr t vgn q;i fr{ !-c|t qrd qq-q d wr oat t I

(1) qmrq qfrt

(z) qTfr qfrt

(3) erdl q-fi{

(4) {fr-d qqh

e6. FrS (crr.q) 4) qrt (q-{q) q{ {s irtt+ t reT qrf,r t fs ffi i aqfrn ffii qq FrE4I

or ql'r qh AdT t
(1) s (2) 7

(3) 6 (4) 8

s7. qR yql Wh r-fr +'tfr a]
(1) d-$ asq rfr frfr
(2) yd Hr 3ITst ql-rT qtE q{ 41 3fu ildT

(B) sd{i 'ilf,rrt if mql {iw-aE q Afi
(4) w{ffi qqi

e8. r1-vtd qr vqtfeffi yg{f,r ii qrqr qri qrf,r diq +{qT t ?

(1) ffis{ Q) frfu{il{

(B) tgFFqq @) frdr

ee. ERd ffi qgs qr-< 6r vEi-*r ffi i ?

(1) gr"I s-*'-{q fi Ek
(z) vd serE+ t gk

(s) FR q <n. fr-{ e1 RE TTFTdT
(4) r6'€e'T sfll-({ fr gk

100. qq d'$ ;qfu e+q{r ffi-qr{ q;rm t d s-q-m drltr{ f6iliT rm frqr qrcr t Z

(1) 250 -soo F]-fr' Q) rooo Frfr'

(B) r - z fra @) so Frfr'
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(1 )

(3)

l O 2 .  I f  p = ; . . y  a n d  q = x - y ,

x2 -v2
(1) - ,--:-{txy

(3) *2 +y2
2xy

(1) 27
(3) 15

101. The value of

(1) 12

(3) 36

(ii) ltrarr{Ell{arrcs

(2) 1
( 4 )  2 + a

then the expression
p - q
p+q nas a value

0

a

1
ls

a

*2  - y2

xy
(2)

p + q
p - q

103' one-third of a number is greater than one-fourth of its successor by one. The number is

(4) 0

(2) 3e
(4) 18

(2) e

(4) 6

(2) Rs. 33

(4) Rs. 11

( 4 4  )

lO4. When the repeating decimal 0.96A686 ....
numerator and denominator is

is written in simplest fractional form, the sum of

(1) 135

(3) 45

r05' A number of persons paid equal amounts and collected Rs. 22. If there were B persons less,
then each would have to contribute Rs. 4 more. The number of people was

(2) LL4

(4) 15

106' A sum of Rs' 61 is divided among A, B, and C. A gets twice as much as B and C gets
Rs. 5 less than A and B together. The amount that c gets is

(1) Rs. 22

(3) Rs. 28
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101.

(ii) rlFrd

s , r q H t

(2) 1

( 4 )  2 + a

ilrI q=x-y,ft d-trs ffi 
- 

ffi 6r qH t

* ' - y '(2\
xy

t0B. ffi €cqr 6I qs-REr€ 3s+1 3T'rd1 \icqr + qfr {'trd qs-+qr$ t W'r t r riEqr t

(1) 0

(3) a

L O z .  q R  p = x * Y

2 2
r l i  x  + - - \

4xy

* 2  + v 2
/ o \\o/ 2xy

(1) 27

(3) 15

(1) 135

(3) 45

(1) 12

(3) 36

(1)  22F.

(3) 28 €.

(4) 0

(2) 3e

(4) 18

(2) Lt4

(4) 15

(2) e

(4) 6

(D 33 {'.

( 4 )  11  F .

ro4. qq g6{rq qri ErA qgFprq 0.363636 .... q} vrcrcq Frd + 5q ii fuqt qrq, d} 3i{T 3fl,{

6{ 6r inq-d E}'n

tob. Ts elii t qoqqTa SrdTr Frq'r 3ft ffi 72 F. {fr} gq | fr s{fr tr-{ aqfr qq t}il,
a t+* qfu ft1 4 i. 3Tftrs ti q.se, ft qFfid 41 {@r Hr Pfi ?

106.  61 d.  q1 { rRr+}A,B del lc i ie ter r rqr  r  B dts l iHr  Agu4rq lqq-(dT$aqtc ,

;.,\ e Aii dr Fffi{ s{t dq €. qs rrq wf,r t I c ffi nRr qr< orm t Z
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r08' The ratio of incomes of A and B is 9 : 7. The ratio of their expenditures is 4 : B. If each of
them saves Rs. 200 per month, then the monthly income of A is

(1) Rs. 3,600

(3) Rs. 2,700

f09. The sum ofthe series 2 + 4 +6 + ... + 9g + 100 is

lO7. 6.4Vo of 2'5 is

(1 )  16

(3) 0.6

(1) 2607

(3) 24e9

(2) 1.6

(4) 0.16

(2) Rs. 1,400

(4) Rs. 1,800

(2) 2550

(4) 1545

tan A + sec A, where

(2) 5
LA,

G) ,7,

r10. If

(1)

(3)

24srn A = ;, the value of
zo

o
I

1

0 o < A < 9 0 o  i s

111. If the H,C.F. of the polynomials *3 _ Bxz + px + 24 a n d  x 2 - 7 x + q  i s  ( x - 2 ) ,  t h e
value of (p + q) is

(1 )  0

(3) -  20

]-l2. The valtie of 3 sin 62"
cos 28o

(1)  0

( 3 )  - 1

ll3' Each edge of a cube is increased by 507o, the percentage increase in the sur{'ace area of the
cube is

(1) 50 Q) 100

(3) r25 (4) 200

(2) 20

(4) 40

sec42"
l s

cosec 48"

(2) 1

(4) 2
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109.

to7,

r08.

(1) 260r

(3) 2;499

110. fr sinA=

(1 )  7

(3) 1

(1)  0

(3) - 20

r r o  3 s i n 6 2 P
Lrzc 

a*2r  
-

(1) 0

( 3 )  - 1

2'5 4T 6'4E"d

(1 )  16  Q)  1 '6

(3) 0 '6 (4) 0 '16

A olh s qfi qffiait Hr 3tqrd e : z t I s{+ sqT
qfu sFd H-6 zoo €. ffikT H{fl t, n} a qT qrR's

(1) 3,600 F. Q) 1,400 d.

(3) 2,700 {'. (4) 1,800 €.

2 + 4 +6 + ..... + e8 + 100 ejetT ST Aqs-m t

6T erqq-6 a : 3 t I qR s{i{ t ds
qrq(f i f f i t  ?

(D 2550

(4) t545

2 * , d  
t a n  A  +  s e c  A

sec4t S.f qH *
cosec 48o

EFT I{FT,

(2)

(4)

q E f  o o < A < 9 0 "  t

o

24
T

tll. qR {gqn (polynomials) x3 - Bx2 + px + 24 delT *2 - 7t + q EFI Tl-dfrq qqfq+fr* (H.c.F.)

(x-2)t, d (p + q) 6,f q|{ t

113. sr il *{r
?

50Vo 4dqs wT
gk d'fr
(1) 50

(3) r25

(2) 20

(4) 40

(2) 1

(4) 2

Rqr qrq, fr qq + Yfi ersq t frdt qFdvrd *

(2) 100

(4) 200
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l|4. The outer diameter of a spherical shell is 10 cm and the inner diameter is 8 cm. The vohfird " i.

of the metal contained in the shell is (Use n = ?l
7 '

(1) 25b-6 cm3 e) 2044.9 cmg

(3) 265'3 cm8 (4) b23.8 cm3

rl5' Two poles of heights 7 metres and 12 metres stand on a plane ground, If the distance
between their feet is 12 metres, the distance between their tops is

( 1 )  5 m  e )  l 3 m

( 3 )  1 5 m  @ )  2 0 m

116. The lengths of the diagonals of a rhombus are 24 cm and 10 cm. The side of the rhombus
is

(1) 14 cm (2) t7 cm

(3) 13 cm @) L2 cm

tll. The mean of 25 observations is 36. If the mean of first 13 observations is 82 and the mean
of last 13 observations is 39, the 13ft observation is

(1) 26 Q) 25

(3) 24 @) 2s

lf8. The mid-points of the sides of a triangle ABC are (1, 1), (g, - B) and (4,5).The coordinates
of the centroid of A ABC are

( s  \  / n  I( 1 )  l : ,  1 1  e \  l g . s l\ 3 ' )  ' - '  
[ s ' " /

/ s \ / n \( 3 )  l s ,  :  l  @ )  l l  9 l
\ ' 3 l  l - ' g j

ll9. TVo coins are tossed simultaneously. The probability of getting at least one head is

(1) + e) g4 4

(3) I (4) 12

l2o' There are 600 men in a fort. If each of them is given 180 g of ration daily, there is ration
enough fot 25 days. If 300 men are increased and the ration is decreasei t rso g daily,
the number of days for which the ration will be sufficient now'is

(1) 20 days e) 16 days

(3) 28 days @) B0 days
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ri+. qs qtflq;t ris qr qrfl fi qrq ro tfr t nqr 3r<{ 6T qRI 8 tfr t r {o ii

{d g$ qE Hr errffi{ t G = ? n+'r 4i)

rrb. zfret iTqI 12qta-r fr ff + A g-"i qrkltT t-m t g.} t r qR t'ii + q{ ilA +

ds 41 qft q'r q<R 12 frc{ t, fr 3-{a; R.{t + qiq fr qfr +r er<i{ t

(1) 255'6 cm3

(3) 265'3 cm3

(2) 2044'9 cmg

(4) 523'8 cm3

(2) rg fr
(4) zo fi

(z) rz tfr
(4) rz ifr

(2) 25

(4) 23

(2) (;,  r)

(4) 
[t, :)

(z) ro Rq
(4) go f({

( 4 e )

(1)  sf i
(s) rr fr

116. qs qqilS$q + ffi +t eqqail za ift H?1 10 ifr t r v+e-qfq m gqr t

rr7. zs f+frqoit 6T qrET so t t qfq rde rg Frfiqoii 6I qIt:T gz t 3il-t 3TFf,q rg frt{oii sr

srrzT ae t, + rg d t{tHq t
(1) 26

(3) 24

rt8. trgu anc m ger.ii * qq-fu€ (1, 1), (3, - 3) He[ (4, 5) t | fi5q mc ] *{s +
^\ .  .  \ .
FK{N-S E

(1) fg. t)
[ 3 ' ,  )

/ s \(3) 
[t, 

-r)

lte. A ffi ({ qrer ssra qr( fr qq-t-qq qd fd ttel xq q.{i si xrfffif,r d'fr

(1) r+ tfi
(s) rs tfr

(1) I
4

(3) 
;

(1) zo fqq
(s) zs ffi

B.Ed./2006

(2) i
(4) 1

120. !S g't ii ooo ruq t I qR 3-{it t T'+s d reo qFT {R1a qfdk Rq qrq, n} ed

{rqH 25 rfi + ldq qqtqT t r qR goo rgw dr q-c q-( 31k {RH qfrffi 150 qFt

t*qt qrq, fr erq ffi p6* * firq qd {I{f{ wtw AqT ?



(iii) socrAl scrENcE

l2l' What.is the rank of India in the 2004 Index of Economic Freedom, published by the
Heritage Foundation and the Wall Street Journal ?

(1) 84 Q) 7r

(3) rzl @) 90

122. who was the Governor-General when the lgbz revolt broke out ?
(1) Dalhousie (Z) Canning

(3) Curzon (q Lawrence

123' The Twel-fth Finance Commission has recommended to bring down the revenue deficit of
the Centre and the States to zero by

(1) 2005-2006 (D 2006_2007

(3) 2007 -2008 @) 2008 - 2009

124. In Union Budget 2005, the finance minister introduced a new tax called FBT. What is the'
full name of the term FBT ?

(1) Fiscal Benefit Tax

(2) Fringe Benefit Tax

(3) Fixed Benefit Tax

(4) None of these

126. Fawazil was

(1) extra pa5rment made to the nobles

(2) excess amount paid to the Exchequer by the Ietedar

(3) revenue assigned in lbu of salary

(4) none of these

126. Which one of the following is not a statutory body ?

(1) The Election Commission

(2) The Union Public Service Commission

(3) The Planning Commission

(4) The Finance Commission

B.Ed./2006 ( 5 0 )



(iii) qrrTrFil-iD' frflI

rzr. tfi)q qr$r*flq Frsr srfr Se qdd, Enr rsrRrd vt 2004 4t silf{-s wiTdT + {q-dis
ii ,+rca *i 4146 *"fr t ?
(1) 84 (2) 7r

(3) 72r (4) e0

rz2. Ft 18bz + ffi-d + q-.s-6i $ qqq rdr-qq{f, oh qr ?
(1) seEl-s e) +frq
(B) s-dq @) ffiq

rzs. qr,da fuf, qrq)'r f sr-SiqT *i t ts ta cqT {s{i + {t,rrs qr} 4l qlq ITt n+ frq
q{ a* drqT qrwn I
(1) 2005 - 2006 (2) 2006 - 2007

(3) 2007 - 2008 (4) 2008 - 2009

rz4. v{ 200b + idq qwe fr F-f, qfi i rsr qrq * qq o-t s't rkltti f*qr qr I FBr
YrE mr T[ qrq wr t ?
(1) fug-f, Hrfuz iR
(z) fig afrtue }w
(3) fuffi anlfue }w
(4) r+q t +$ Tfr

tz'. qqfkd (Fawazil) gT

(1) rqFif fqtqw) 4) f*qT 'rqr eTfrRffi grrd'rr

(2) E--tfl anr nw*}q (q4v+fi) q} frqrrqr qRRm nRr or TT-dH
(B) a-dn + EEA xtq {srFT

(4) gr.t i fr.$ Tfr

126. FTqFdfuG fr t qtqqT qiEFm ftsrq d' t ?
(1) FreIT{ BTrfr-r

e) Affiq El-s Aqr eqTqhr

(B) Aq-dT qrqhr

@) P6 q-frq
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127. Which of the following countries is not a member of Mercosur ?

(1) Brazil (2) Paraguay

(3) Peru (4) Chile

128. Which theory makes the use of Jigsaw fit in its support ?

(1) Tidal Hypothesis

(2) Tetrahydral Hypothesis

(3) Cycle of Erosion

(4) Continental Drift Theorv

129. Where is the famous Tuscarora dweep located ?

(1) Near USA (2) Off Japan

(3) Off Lakshadweep (4) Near the Australian coast

f30. In which of the following countries has there been the highest rise in overall level of skilled

unemployed during 2000 - 2002 ?

(1) India

(3) France

f31. The Rigveda consists of

(1) 1028 hymns

(3) 2028 hymns

132. Blizzards are characteristic of

(1) Equatorial

(3) Antarctic

(2) China

@) USA

(2) 1000 hymns

(4) 1038 hymns

region.

Q) Tropical

Q) Temperate

133. which of the following Harappan sites are located in uttar Pradesh ?

(1) Kalibangan (2) Banwali

(3) Almgirpur (4) Sutkagen-dor
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rz7. FrefuF*c fuil t t +{qr t{T TqiFR 6t v(s rd t z

" (1) Hr$€ Q) q{Tta

rel ts @) ffi

rz;. fq'Ril * sqfr'r n 6lqqT fuql-fr 31ffi qr6 - {qm t Z

(1) er{sd Er$q)frFg
(z) +rdTwd ET{q}frkq
(B) Tilq 6T qtn ({r&E sfs {tqn)

(4) Tddfiq fE*qqr futr< fqHiae F€ q)fr)

. rzs. gs+.t'{ rr-ffi qkd frq s€r Rrd t ?

(1) g.q. 3ffiq1 * fi-*a e) qTqH t Vq

(3) dq]dtq t uqE (4) 3GFdqT + q5fr ffi t Fr6z

rB0. qt 2000 -2002+ Ehr FrqfuFsfr fr t frq t{r fr grro tMi t qryq wt it 3Tf}r6Tq

grq gi ?
(1) ril-{d Q) *{

(3) siq (4) g'1' qftffi

rB1. Eraq + er+tc t
(1) rozs ril

(3) 2028qtr

(2) 10oo wt

(4) ross ril

rsz. fdqqiflqd t{ si AM t t

(1) Wtffiq Q) surstr{*frq

(B) ERT'r Tfiq fqan*fr+l @) vffiT ()fr)

rss. FrqFdfuf, fr t 6t+fr a.sq{ €x?T str{ qhT q ntra t z

(1) 6rd+r Q)

(B) snqqm{S{ (4) gffiTq+qrt
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134' The Prime Minister Manmohan Singh has constituted a task force to prepare a long terin
plan for the social and economic development of

(1) Tamil Nadu e) Manipur

(3) Jammu and Kashmir (4) Uttaranchal

136. How many islands make up Hong Kong ?

(1) 235 Q) 245

(3) 205 @) 206

138. Commonwealth Bank belongs to which country ?

(1) Australia e) New Zealand

(3) United Kingdom t+> philippines

f37. What does NIFE refer to ?

(1) A crop (2) An instrument

(3) A marine organism (4) A type of rock

f38. Who started the Madras Labour Union in 1g1g ?

(1) Kanji Dwarkadas and umar Sobhani

(2) G. Ramanjulu Naidu and G.C. Chetti

(3) T.K. Murlidhar and H.B. Mahaduvle

(4) C.K. Annadurai and K.T. Ramchandar

189' Which of the following rivers is called Biological Desert due to heavy population ?
(1) Brahmaputra e) Ganga

(3) Damodar @) yamuna

f40. Where do Bhagirathi and Alaknanda join to form Ganga ?

(1) Karan Prayag (2) Dev prayag

(3) Rudra Prayag @) Gangotri
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rsa. q*TH riii qqfril{ fsd i f+e {rq * qrqTfqs HqT qTfrs f{flq qi ffir qtqqr {iTt
+ leqwordcemr r& r f f i q r t  ?
(1) f,trd rrg (z)
(B) q..q. F q,{fr{ (4)

rsb. Effi'r fwi *,+t t q-fl t Z

qF$

sf,rtTf,

(1) 235

(3) 205

(2) 245

(4) 206

(2)

@)

qffi@ +s f+T
(1) 3rr 

"€tdqr
(s) q+lEls Fhrsq

f+T fur t eqFra t I

q$d"s

Fn,-d+{

r37. NIFE cFT qqRI ffi t ?

(2) qs 3ffi{ur(1) qs wRT

(B) qs qTfr *q G) qs FfiR q1 qETr

rBB. {q tels it rrqrq t-fi {fff{ ql H{EIT ffi fuqr qr ?
' (1) qifr arc+r+q dqT s{r R}qTii

(2) qi. rm{gg qr{s^ (nn ql.Sr. iA
(B) A.+. gtfrtn dQrr qq.ql. qeTgaa

(4) m.*. 3{"rg{-$ nqr t.21. {rwi<t

. tse. FTqfrfud fr t ffiq +qi q) ug w+twr * qnor Sfus tFTRrr qar qrar t ?
(1) trggT (2) 'ir11

' (B) qrqt<t G) qgqT

r4o. qr'furfi sil{ eidfin<r Fffi*-r ,iTr q.r fuiuT sEi +.rfr t ?

(1) ouf qqn (D tq xqFr

(3) 5f qqFI (q 'i'tfi

,  B.Ed./2006 ( 5 s )



(iv) ENGLISH

141^. Choose the word which is opposite in meaning to the word'Tentative'.

142. Which word is opposite in meaning to the underlined word in the sentence -'His meanness

is proverbial'?

(1) Timidity

(3) GenerositY

143. Choose the synonym of Voracious'.

(1) Hungry

(3) Quick

144. Choose the synonym of the underlined word in the sentence - 'Reading of poetry is not

congenial to his taste'.

(1) Helpful (D Preferable

(3) Suited G) Benefrcial

146. Choose the appropriate word that can substitute -'Animals that can live on land as well

as water'.

(1) Developed

(3) Immediate

(1) Amorphous

(3) Ambiguous

(2) Final

(4) Urgent

(2) Kindness

(4) Pragmatism

(2) Wild

(4) Angry

(2) Ambivalent

(4) Amphibian

146. 'One who cannot be corrected' may be substituted by the word

(1) Incurable

(2) Incorrigible

(3) Invulnerable

@) Hardened
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147. Choose the correctly spelt word.

(1) Surveillance

(2) Survaillance

(3) Surveilance

(4) Survellance

148. Choose the missPelt word'

(1) Commend

(2) APPraise

(3) Behaviour

(4) Mentenance

149. Choose what best expresses the meaning of the idiom 'To meet one's Waterloo''

(1) To die fighting

(2) To meet one's final defeat

(3) To die an ignoble death

(4) To meet a strong adversary

160. Choose what best expresses the meaning of the underlined phrase in the sentence'

'It is high time that India did something about its population problem''

(1) Appropriate time

(2) Already late

(3) Auspicious moment

(4) Desired occasion

151. Choose the Passive Voice of Who teaches you English ?''

(1) English is taught by whom ?

(2) By whom will you be taught English ?

(3) By whom were You taught English ?

(4) By whom are you being taught English ?
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162' Choose the correct Indirect speech of - I said to my brother , "Let us go to some hiII stition
for a change".

(1) I permitted my brother to go to some hill station for a change.

(2) I suggested to my brother that we should go to some hill station for a change.

(3) I asked my brother to go to some hill station for a change.

(4) I asked my brother if he wourd go to some hill station for a change.

153. Pick out the most appropriate word. to fill in the blank in the sentence.
"There is no doubt that one has to keep _ with the changing times.,,

(1) pace

(2) himself

(3) aside

(4) oneself

t54. Choose the correct preposition to complete the sentence.
"I shall not desert you -- all the world.."

(1) by

(2) for

(3) with

(4) from

Who wrote the poem "Rape of the Lock" ?

(1) Chaucer

(2) Pope

(3) Dryden

(4) Shakespeare

166. Who wrote the novel

(1) Lawrence

(2) Austen

(3) Bronte

(4) Hardy

B.Ed./2006
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157. Who wrote the play "Man and the Superman" ?

(1) ShakesPeare

Q) Eliot

(3) Shaw

(4) Yeats

15g. The communicative approach to Language Teaching - Learning lays stress on

(1) translation

(2) language use

(3) grammar

(4) usage of structures

159. Bathsheba Everdene was the heroine in the novel

(1) Return of the Natiue

(2) Tess of d'Urbervilles

(3) Far from the Madding Crowd

(4) MaYor of Casterbridge

160. Wordsworth \Mas a poet of which period in literature ?

(1) Age of Reason

(2) Romantic Period

(3) Victorian Period

(4) Modern Period
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(v) Gd
sfi ri*,T rct I ras #^r?q fi.A?r : ail fu rq ,ruf?r qj aa, I qBq. e,t{ 4( C fdr q y ' e d ' # y a c f r q q - ' /  

' '  ' -  - t t '  \ '  r ' e '

Rrs q'it enr ergfua 
ry 

qH *trHr-s{rd **Fs RrETq.R Tfi t sTRg .,ofrrdflf{s {d{+i t ffi- fu {igi{ t q} qrq uru-*g uunETH nfrqr q} yflR mr.n t I'mfrq Tiqfr t Rrrqn qr ffir RTqrFss drq{6r{ + fr6sT{ sTFrq|qr + dtdr t IffiI{|({, qvet'l q1 quTrEI, 
ry, ul=*fr, 

'.rtr"g, -uF,*, 
,r+*--tfr Tq;r,ffifds vqn nen qrsirr qqTq'Tqtq'rk t .f,rqrEr + A aau sq t I qFdR- qr Rlvrs3i-q'sif qr qd d vq-mfl, -il.. f,rtg*_$k ig *r_fr* aw ywn d o{Frqre{ +c+ *+etITffiq riqfr fr fi rquqn t r Jl*qrcq-kflr al qq61 t fu r*.qi qtuq qm * .+r,TT{qi qT'rsr<r *1 rfr udgui +-fi s,fud d qrdi t r s++r BTrvirqfq qrq s't fiur sqfqrtfi qft t r e+rq .rq fr] +1 *fr' fusrqR * anr-a*rn fr rg"1 eilt er+qsa ffiq ,rfrt t) ro t | '5rq', 'a', 'Fe)' qr+ Erdi si rRrT Erer +-*- qRffi gsrrr *fr nq sir Rsdrd ? eirr-dvr+sqa ei-er+{s qr EqHf qi enrElqr uTi, orn $rdr e{rqri_Tffi t Iwiw + qerR w ffifud NTr Q61 r tos), .+rrfud rrr r?md * mry pq 7q. d l sdfu *) gz"q I

16r. frrgrqR +l yprq Hlqr wr t u
(r) SflE*q EsiT
(s) sTFr*Eq s'{nr

(2) 5s.{d gg EtiT sC{T
(4) tc +{r

162. gcqn d ernrqnq wl qr sttRT Fs FFrsqil d d ?
(1) qqur Hd +-c{r e) Aq fr--g-+r fut g+nr
(s) HTgi T sufiq q-trn @) 6q fugrqr

ras. sTnfrqf( qe"r +r) qr *lrm* res wr t Z
(1) qq ys* A qrdr t e) ytur sfrd E) qri t(B) 3r{InH 6d rrnn t} qror d @) eqnr e6qh[qg a*, t

164. @* Svrdil qrw sd qr fucrn wr t I
(1) *,Tr)Tr q.r til{
(2) RE+q qr ei-qls{
,:)r 

"e.rt 
*rrm ch-T g.Nqf T€ HFHI

Ai frfW6 qqqlq STFTqTEa

165. 'vqfB qrqrq s{tg 3{qrfr, ur eTFTqrq t
\1, - ffi-+r -rre -t 6I Firh-i VtrilT <qI
e) sq+ qr{ qfr qt-qT€ q-tt t q6t .{-t.;fi fu<r *.r+r
(3r qH q|s{ silqr q Ehr
\4) s{qi vrqiq * ettq Esit +.r rfr qqn srfl
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yW Tielr 166 * rco + leq fid?, ; ffifuv q*q ,w # prq 4K-4R fE6@ fu ryq
d  r t d f f i  g t r q /

166. qfffi q)-drqq qrqqi q1 trEqr+fr' f,s-s qmr ii t ?
(1) -{ e) sKS
(B) si-q$ G) qlqql

l.67. €q.f, r+rqr +1 g+n t qtiqi fon t I
(1) iT{rrfr e) drd
(s) g€gd (4) YIfKr

168. '61q1qq' f*q 6re +i Tqfr t ?
(1) sTrf{*.rm e) qfuqre
(B) urgf* +re e) ffi ore q1 €

16e. qtdm +ffi ga t z
(1) ffi e) {q-frq
(3) q=l,q1-tFil (4) o.Ril

r,q. gfr erEe Erfi qt{qT t ?
(1) +i fr-$ tt eTE qrqr e r
(z) enq qqRqn eT{fid t r
(3) qt 3Tr{q I
(4) 3TTq wr fi sTrt, Ugt frui t

(2)

(4)
€-m
sq5m

(2) ret$ d{ q-{

(4) qr qi {qt$

( 6 1  )

r7r. 'qfiTgq Ail + sTef it f*-s gdrqt *,r vqhr t I
(1) s-frs sr 3fsq +-{r
(z) q* efu q* 'qrco tt+r
(s) FrqH+ 6r +ffi{
(4) ftitqd q1 aqt EiiT

r72. sqR + Bffi ftrfi qtrrs q( *tT t)'n Z

(1) sqftfi

(B) sqtm

r7s. '{et$qq' il qqFq-frqE I
(1) rfr$ or qr

(B) {fr-$ + feq En
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rt4. FTf+qr mfr wt t I
(1) srfre qr+t
e) ).sr
(s) ffi-HqriE
(4) qrdiT-qT

r75. '{d tfr ffi g*o* g{ cT eTr r' {s qrw if tuifr-d qq wr t u
(1) tmqT-ffiqq
(2) ffiquT
(3) qsT
(4) stalq

176. 'qua' 6T ffiqq AqT
(1) sq&
(3) 6,%EF

(1) qrt
(3) qqFr

r77. fr qr qrtr srqqi, gF ttFr} Wn I

E qtfl + swfr, d scq$-qq'rt rl

{s At t qqs srcisR f*q Yr< * orq t z

(2) sr$
(4) fiu-{q

(2) gq|;T
(4) sw$

u8. 'ffi61'ffi rqqr t Z
.(1) *rqtq
(z) gqfr-qq
(B) fddTfrdrd
(4) tfirfr{Rur {R

r7e. 'ffi qurq qrtq qla fi6 sq-+1 E rifr' {s qrq-rifu if wrnq t ?
(1) Ei-d{-{q{ if orqr *1 m +-fr t
(z) F{tar SqS{d ro} qrer Sddr t
(s) itg* fr+t vqr ffi Eldr t
(4) iq S *iqfTnt fi+q sT fq{rrerd t

r8o. 'erqq6Y rrd( it +t{qT qqrq t u
(1) erqqtqrq
(3) odqKq
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SPACE FOR ROUGH WORK
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